YABANCI UYRUKLU OGRENCI SINAVI
TEMEL OGRENME BECERILERI TESTiI VE MATEMATIK TESTI

ORNEK SORU KIiTAPGIGI

THE ENTRANCE EXAMINATION FOR FOREIGN STUDENTS
THE BASIC LEARNING SKILLS TEST AND MATHEMATICS TEST
SAMPLE QUESTION BOOKS

ADAYIN / APPLICANT'S

ADI / NAME

SOYADI / SURNAME

Y.U. NUMARASI / FR NUMBER*

SINAV SALON NO / EXAMINATION ROOM NO :

) Adinizi, soyadinizi, yabanci uyruk ve sinav salon numaralarinizi yukariya yaziniz.
Write your name, surname, foreign resident and examination room numbers in the appropriate places above.

GENEL ACIKLAMA / GENERAL INSTRUCTIONS

I. Bu sinavdaki sorularin nasil cevaplanacagi, testin
basinda agiklanmistir. Sorulari cevaplamaya
baslamadan 6nce bu agiklamalari dikkatle okuyunuz.

1. Bu testteki her sorunun bir tek dogru cevabi vardir. Bir
soru icin birden ¢ok cevap yeri isaretlenmisse, o soru
yanlig cevaplanmis sayilacaktir.

Ill.  Cevaplarinizi koyu siyah ve yumusak bir kursun
kalemle isaretleyiniz. Isaretlerinizi cevap yerinin
disina tagirmayiniz. Tikenmez kalem veya dolma
kalem kullanmayiniz.

IV. Cevap kagidinizi burusturmayiniz, katlamayiniz ve
Uzerine gereksiz higbir isaret koymayiniz.

V. Degistirmek istediginiz bir cevabi, yumusak bir silgiyle,
cevap kagidini érselemeden, temizce siliniz ve yeni
cevabinizi isaretlemeyi unutmayiniz.

VI. Bu testler puanlanirken, yanlis cevaplar dogru
cevaplari géturmeyecektir. Bu nedenle cevapsiz soru
birakmamaniz yarariniza olacaktir.

VII. Sinavda uyulacak diger kurallar bu kitap¢igin arka
kapaginda belirtiimistir.

Bu testin her hakki saklidir. Hangi amagla olursa olsun, testin
tamaminin veya bir kisminin Universitemizin yazili izni
olmadan kopya edilmesi, fotografinin ¢ekilmesi, herhangi bir
yolla ¢cogdaltiimasi, yayimlanmasi ya da kullaniimasi yasaktir.
Bu yasada uymayanlar gerekli cezai sorumlulugu ve testlerin
hazirlanmasindaki mali kiilfeti pesinen kabullenmis sayilir.

I. The instructions for answering the questions appear at the
beginning of the test. Please read these explanations
carefully before beginning.

Il In this test there is only one correct answer for each
question. If more than one option is marked for a
question, it will automatically be considered wrong.

11l You should use a soft, black pencil to mark the answer
sheet. Completely fill in the circle for the answer you
have chosen, but make sure your mark does not go
beyond the borders of the circle. Do not use any other
kinds of pen.

IV. Keep the answer sheet flat and do not fold it. Do not make
any unnecessary marks on it.

V. If you wish to change an answer, carefully erase it
completely with a very soft eraser. Do not forget to mark
your new answer.

VI. In the scoring of the tests, for every four incorrect

answers, one correct answer will not be deducted.

Keeping is in mind, do not guess the answers. However,

in cases where you are sure that certain alternatives can

be eliminated, you may want to choose what seems the
best of the remainders.

The other regulations concerning the administration of

the tests can be found at the back of the booklet.

VIL.

All rights are reserved for this test. For any purpose, copying,
photographing, reproduction, publication, or using the whole
or part of the test without the University’s written permission
is prohibited. Those who do not comply with this regulation
are deemed to have accepted the financial burden of the
necessary criminal liability and the preparation of the test in
advance.



YABANCI UYRUKLU OGRENCI SINAVI
ORNEK SORU KITAPCIGI

THE ENTRANCE EXAMINATION FOR FOREIGN STUDENTS
SAMPLE QUESTION BOOKS

TEMEL OGRENME BECERILERIi TESTI
THE BASIC LEARNING SKILLS TEST

1. Bu test sizin soyut diistinme glictintzi
6lgmek icin hazirlanmigtir.

2. Bu testte 40 soru vardir.

3. Bu testteki sorularin cevaplari, cevap
kagidinin_Temel Ogrenme Becerileri
Testi icin ayrilmis olan kismina
isaretlenecektir.

4. Cevaplamaya istediginiz sorudan
baslayabilirsiniz. Cevaplarinizi
isaretlerken soru kitapg¢igindaki soru
numarasi ile cevap kagidindaki cevap
numarasinin ayni olmasina dikkat
ediniz.

1. This test is designed to measure your
abstract reasoning.

2. This test consists of 40 questions.
3. Please use the appropriate part of the

answer sheet for this section of the
test, namely the Basic Learning Skills
Test section.

4. You can start with any question you

want. But, when marking your answers,
make sure that the answer number on
the answer sheet is the same as the
question number in the test booklet.

NOT: ONDALIK KESIRLERI GOSTERMEK
ICIN TURKGE METINLERDE VIRGUL (,)
KULLANILIR.

NOTE: DECIMALS ARE INDICATED
BY ACOMMA (,) IN TURKISH.




I_\
|

X, Y, z pozitif sayilar olmak lzere; x.y.z="7?

if X, y, z are positive numbers, then what is the value
of xy.z=7?

X.y.Z dad ale dld Je el diagadlael X, y, z OIS 1

A) 2 B) 2 C) 2 D) 2 E) 2

4.

X, Y, z ve t birer rakam olmak Uzere * islemi
asagidaki sekilde tanimlaniyor.

The operation * is defined as follows
where X, y, z and t are one digit numbers.

Sl A adi) B ) agia Stz y X OIS 1

2.
a.b—ab ,a<b
axb =
-2 asp
b

(2%3)x(1%1) =7

A)5 B) 6 C)7 D)8 E)9




TAKIM

KEMAL 18183 26183
KETUM 15273

TEKIL 16294 26354
TUTUM

Yukaridaki s6zcuklerin harfleri birbirinden farkl birer
rakamla gosterilip sagdaki sayilar elde edimigtir .
Buna gore “TEKIL” kelimesi hangi saylyla
gOsterilmektedir?

The numbers in the second group are obtained by
replacing each of the letters with a number.
Accordingly, which number corresponds to the word
“TEKIL” =?
sale dae Yl e Ao gana Ll QLK (40 Ao gana 22 g8 eI
TEKIL 3aS)) Jiéy (31 222l

A) 18183 B) 26183
D) 16294

C) 15273
E) 26354

[

Yukaridaki acik sekil katlanarak kip haline
getirildiginde; C’'nin karsisina hangisi gelir?

If the above figure is reformed to a cube, then which
letter sits opposite to letter C = ?

e Jans s sl A 45l sale cunSa anall (S
C="

E)F

[

8.

Bir bilet kuyrugunda Ali 'den dncekilerin sayisi, Ali’
den sonrakilerin sayisindan 5 fazladir. Kuyrukta
toplam 20 kisi olduguna gére, Ali bastan kacinci
siradadir?

In a ticket queue, the number of predecesors (before
Ali) of Ali is 5 more than the successors (after Ali) of
Ali. Starting from the first one, what is the place of Ali
if there are totally 20 people in the queue?

e cmbe @Al & Ay e e Jas Sl Hglla 8
e ) Cadde 1A Aied s sdey (al RSV e g 4l Lald i)

e i i ale 20 4 OIS (alasY)

A)17 B)16 C)15 D)14 E)13



Sekildeki kip birbirine es 64 tane kiiguk kipten
olusmustur. Olusan buyuk kiptn tim ytzeyleri
maviye boyansin.

The cube in the figure is composed of 64 identical
small cubes. All sides of the big cube is colored blue.

e i a5 shuia e B4 () sl o3 e 2a gy JSN
GooY) sl s sa g
Uc yiizii boyali kag kiicik kiip olur?

What is the number of small cubes with three faces
colored blue?

Sl § o5 B8 A e Ll el e

A)3:34 B)3:41 C)3:47 D)4:01 E)4:12

2m+3n-s=-32 = m+n+s="7?

A) 64

B) 69

C) 60

D)2

D) 59

E) 4



13.
2 2

A= matrisi veriliyor.
4 2

A=B+C, B =B, C'=-C olmak lizere; B — C = ?
(Burada “T”, matrisin transpozunu gostermektedir.)

2 2
The matrix A= is given.
4 2

fA=B+C, B =B, C'=-C

then what is the matrix B—C = ?
(Here “T” stands for the transpose of a matrix.)

2 2
- ... | s

A=B+C, B'=B, C'=-C

(4 sind) Jsiie ixy T)
B-C =7 iad aledlld e sly

A) {2 5} B) {1 2} 0 {2 4}
1 2 2 1 2 2
D) {0 —2} ) {2 3}
2 0 3 2
14,
A)96 B)102 C)108 D)114 E)120

C)4 D)6

Yukaridaki seklin icinde asagidakilerden hangisi
yoktur?

Wich one of the following does not contained in the
above figure?

calidall o) halall JSal s Leia ol AU JIKay1 4



17.ve 18. Sorulari drnekte verilen iliskiye gore
cevaplayiniz.
Answer the questions 16. and 17. according to the
relation given in the example.

(16-17) sl dssliall L8y 5a)

2 2
a -¢c =7

A)30 B)35 C)40 D)45 E)50

18.

A) 13

a,b>0,

B) 11

a-b="?

C)9

D) 7

E)5



19. ve 20. sorulari, asagidaki 6rnege gore
cevaplayiniz.

Answer the questions 19 and 20 according to the
following example.

S A e el cilia) Sle il 19, - 20, At 8

Ornek: Example:

3 ,12_* 48 ;6 3,3

19.
A +K 9 xK B -K 56

Yukaridaki say! dizisine gore; A kagtir?

According to the above number sequence, what is
the value of A ?

A Ciall e ale e V) 853 s sl ALl b

A)2 B)3 C)4 D)5 E)6

20.

Baslangi¢ sayisi A = 8 , katsayisi K = 6 olan sayi
dizisinde; iki toplama ve iki carpma islemi yapildigina
gOre; dizinin son (besinci) terimi en cok kag olabilir?

Starting with A = 8 and K = 6 one performs two
addition and two multiplaticion. What is_the largest
possible value of the last (fifth) term of the sequence?
2aal) 223l o il A = 8 A e g Al S 1Y
oslall sl dad Sl ale Gl (4 je o pall 5 pealb K= 6
ALty

A)480 B)540 C)720 D)800 E)920




YABANCI UYRUKLU OGRENCI SINAVI
ORNEK SORU KITAPCIGI

THE ENTRANCE EXAMINATION FOR FOREIGN STUDENTS
SAMPLE QUESTION BOOKS

MATEMATIK TESTI
MATHEMATICS TEST

1. Bu test sizin somut diistinme gictintzi
6lgmek icin hazirlanmigtir.

2. Bu testte 40 soru vardir.

3. Bu testteki sorularin cevaplari, cevap
ka&gidinin Matematik Testi icin ayriimig
olan kismina isaretlenecektir.

4. Cevaplamaya istediginiz sorudan
baslayabilirsiniz. Cevaplarinizi
isaretlerken soru kitapgigindaki soru
numarasi ile cevap kagidindaki cevap
numarasinin ayni olmasina dikkat
ediniz.

1. This test is designed to measure your
concrete reasoning.

2. This test consists of 40 questions.

3. Please use the appropriate part of the
answer sheet for this section of the
test, namely the Mathematics Test
section.

4. You can start with any question you
want. But, when marking your answers,
make sure that the answer number on
the answer sheet is the same as the
question number in the test booklet.

NOT: ONDALIK KESIRLERI GOSTERMEK
ICIN TURKGE METINLERDE VIRGUL (,)
KULLANILIR.

NOTE: DECIMALS ARE INDICATED
BY ACOMMA (,) IN TURKISH.




1
1 1 1

a=(l] 4 b:(lj S c=[lj 6 sayilarinin
5 4 3

kiglikten biylge dogru siralamasi asagidakilerden
hangisidir?

What is the correct order of the above numbers
when they are ordered from the smallest to the
largest?

Aae 3 Ll ) sl (e sl g,_&ﬁ)ﬂ\,a%;td\‘_yg;i

A)c<ac<b
B)a<b<c
C)b<c<a
D)c<b<a
E)b<c<a
2.
avb +bva _,
Ja+b
A)a B)b C) a
D) Vb E) Jab

3.

(2’( 4)(2’( +1j(22x +1J(24X +1j ~1023 = x=?

[

a+b=3 ve x+y =2

= ax+Xx+ay+y+bx+by="?

A)4 B)6 C)8 D)10 E)12

i+3|+|b—4|+|ac—21| =0 olduguna gore;
a+b+c="?

if [a+3|+|b—4|+|ac —21 =0 then what is the value
ofa+b+c="7

Al e ol [a+3|+|b—4|+[ac—21 =0 Ll gs 13

a+b+c="?



6.
(423)5 = (?)3

A) (11012)3 B) (21001)3
C)(10122)3 D) (20011)3

E) (10012),

7.

16

p>0= Y (k-1+p)="?
k=5

A) 9(27+2p)  B) 10(27+2p)
C) 13(20+p) D) 12(20+p)
E) 11(10+p)

ABCD bir dikdortgen ve

|AD| = |DE|, |CF| =|BF|, |AF| =210

A (AEF) = ?

In the figure ABCD is a rectangle.

If |AD| =|DE|, [CF|=|BF|, |AF| =20 units, then

what is the area A(AEF) of the triangle AEF in
square units?

Jibiws ABCD o< 13
|AD| = |DE|, |CF|=[BF|, |AF| =210

A (AEF) = ? il dalue AL

A)8 B)10 C)12 D)14 E)16



Grafigi verilen paraboliin denklemi asagidakilerden
hangisidir?

What is the equation of the parabola whose graph
is given in the figure?

(Sl adaill Alalas Jiay 58 (5 M) ) a5l (1

B) —x2+6x+7

D) x2+6x+7

E) 101

10

f(x) =sinzx.g(x)

f'(1)=2
A) 2z B)-z C)0 D)r E)2r
13.
4- 4 =2
4
4- 4
4"
4—

Sonsuz kesirinin degeri kagtir?
What is the value of the continued fraction above?

eV b dleall i 2n

E)

C)2
) 2

1
D) ——
)2

W] =



14.
A B c C =D olmak tzere;

(D\C)U(C\B) U (B\A)=?

If A =B c CcD then which one of the following is
equivalent to the set (D\C) U (C\B)U(B\A)=?

caall o M e ol AcBc C Dl g

(D\C)U(C\B) U (B\A)=?

A) D\A B) D\B C)D\C
D) C\B E) B\A
15.

arctanx = arccot4x ise x 'in alabilecegi degerler;
asagidakilerden hangisinde dogru olarak verilmigtir?

Which one of the following contains the correct
values of x, if arctanx =arccot4x ?

X AL o) (S Al adll oale arctanx = arccot4x oS

c) {01

1"

16.

lim

. 2 X en.
f(x)zsm x—e<X ise; fim h

limitinin degeri kagtir?
If f(X) _sinZ x—e2X, then what is the value of the
(RN

2 2

lim =7?
h—>0 h

limit

Hledll a8 (Ale ) IO £(x) = sin®x—e2X 1

(a)-(3)

lim =7?
h—0 h
A) 2¢” B)e "
C)e " D) —2¢” E)e”
17.
dx

, f(0)=5 ise;f(2)="?

f(x):J(2x+1)(3x—1)

A4 B)5 C)6 D)7 E)8



18.
a= Iog2 10, b= Iog5 40 ise a nin b cinsinden
ifadesi asagidakilerden hangisidir?

What is the value of a in terms of b if

a=log 10, b=Ilog 40 ?
g2 g5
b AYa g oS! Lual < 13
A)b+3 B) 3 C)b+2
2 b-2 b-1
D) b+1 E) b-3
b-2 b+2
19.
f:IR>IR,
2)(;1 ;X <2
X —x-12
f(x)=1{sec(zx) ;2<x<5
X+2 iX>5

fonksiyonu ka¢ noktada siireksizdir?
At how many points the function f:IR - IR
is discontinuous?
f(X) gl < 13

alaa e il o}sﬁg\:\suﬁmw@g

C)3 D)4 E)5

12

ABC bir eskenar Gggen, “O” liggenin agirlik merkezi
ve cemberin merkezidir.
|AB|=12 cm
|AD|=[BG| =|CH|} ise tarali alan kag cm? dir?
|AD| = 3|EF]|

ABC is an equilateral triangle, |AB| =12 cm, “O” is

the centroid of the triangle ABC and the center of
the circle at the same time. If |AD| =|BG| =|CH| and

|AD| = 3|EF|, then what is the shaded area in

square centimeters?

S0"0", |AB| =12 cm g3la) (s sbie Cilia ABC S 131

|AD|=[BG|=[CH| S
1AD| = 3fEF a5 S e A s i) 8
Al Alaial) dabioe Cusal
3(12++/3
C) 36 ++/37 py (36 +3”)£
E) 123 -7





